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(@) (61.625);0 = ( )g
(b) (10011011.101), = (  )1o
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(d) (3654)g + (2326)g = (110010000010),
(e) (1101), x (111), = ( 1001011 ),
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& for, switch, while and while 45¥) Jaall dalal) dapal)

(1)-
if (condition)
statementl;
else

statement 2;

(2)-

switch (expression){

case constant 1: statement 1;
case constant 2: statement 2;
case constant 3: statement 3;
Case constant N: statement N;
default : statement 0}

(3)-

while (condition)
{statementl; statement 2; ....statmentn;}
(4)-

for(initialization;condition;update)

statement;
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(a)-The input object cin requires the outpout operator >> . It should be
cin>>m;

(b)- The word else is a keyword in C++; it can not be used as a variable name.
Use:

float b=44;



(c)- Parentheses are required around the condition, and a semicolon is required
at the end. The correct is
if (n==10) n=n+1;
(d)- There are four errors: the firs line should not end with a semicolon, the
parentheses are missing from main, n is not declared: The correct is

# include < math.h =

int main ()
{ intn;
n=22;

cout << "n = "<<endl ;}
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Let i=1, S=0

Sﬁ{_

# include < iostream.h>
Int main()
{inti=1;
float Ai, S=0;
do
cout<<”enter the numberAi” <<endl;
cin >> Ai;



if (Ai<0)
S=S+Ai;
I=i+1;
while(i<=50)
cout<<'S;
return(0);}
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1¥1=1 1*2=2 1*3=3 1*4=4 1*5=5 1*6=6 1*7=7 1*8=8 1*9=9 1*10=10
2*%2=4 2*3=6 2*4=8 2*5=10 2*6=12 2*7=14 2*8=16 2*9=18 2*10=20
3*3=9 3*4=12 3*5=15 3*6=18 3*7=21 3*8=24 3*9=27 3*10=30
4*4=16 4*5=20 4*6=24 4*7=28 4*8=32 4*9=36 4*10=30
5*5=25 5*6=30 5*7=35 5*8=40 5*9=45 5*10=50
6*6=36 6*7=42 6*8=48 6*9=54 6*10=60
7*7=49 7*8=56 7*9=63 7*10=70
8*8=64 8*9=72 8*10=80
9*9=81 9*10=90
10*10=100
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# include < iostream.h>
Int main()

{inti=1,N;

cin >> N;

float Ai, S=0;

do
cout<<”enter the numberAi” <<endl;
cin >> Ai;

S=S+Ai;

|=i+1;

while(i<=N)



cout << S;

return(0);}
CEEUR

Let i=1, S=0

J

Input N

Input Ai

S=S+Ai

I=i+1
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